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Homework 3 solns

.) The electric force moves the particle upward. When it gathers speed it experiences

a Lorentz force from B which moves it to the right in a circle. As it starts moving

downward it slows down which reduces the Lorentz force, finally coming to a stop.
The process then begms again.
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Differential first wrt t and plug into the second to eliminate V7
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Use initial conditions on W Then plug into \ and use initital conditions
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inally, integrate again to find x(t) and y(t)
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Plug into Mathematica
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